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HAI—2 BEMITERT DLBEESNHERICEITHEERI/1) _ _ | mEEE | mkeri
2EMHOMNE | BEMEs 16651035 | B4 \ A | RARfEMh [ AR K e
) SMERH O TinICHET 511 SfERHA
ﬁ%&g TEREOBHOEILADKRES TREDOHBEBSSLODKRES TREOBBOESILADKRES TREDHBESILNDKRES
; 100kN/m#%# %25 | 1.00| 000 ~ 290 145.96 |3mEBZ 5| 0.00 ~ 0.07] 3.04 16.27 | 100kN/m#%#8Z 5 | 1.00 | 1063 ~ 2538 145.96 |3mEx#Bz 5| 25,00 ~ 2538 3.04 16.27
znLst 1.00 | 290 ~ 1068 100.00 | =N | 0.07 ~ 1068| 3.00 16.056 ZznLst 1.00 | 5.00 ~ 10.53 100.00 | #nS | 5,00 ~ 2500| 3.00 16.056
2 100kN/M%i#8Z25 | 1.00 | 0.00 ~ 280 144.30 |3mZEiBZEH| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 1069 ~ 27.37| 144.30 |3mEHEZS -~ — — —
znLs 1.00 | 280 ~ 1059 100.00 | #nRS | 0.00 ~ 1059| 2.93 15.69 ZznLst 1.00 | 5.00 ~ 10.69 100.00 | #nRS | .00 ~ 27.37| 2.93 15.69
3 100kN/m#Zi#8Z25% | 1.00| 000 ~ 345 1565.63 |3mZERBZAB| 0.00 ~ 032|817 16.97 | 100kN/mM##BZ% | 1.00 | 1053 ~ 3432 155.63 |3mE#BZB| 25,00 ~ 3432 3.17 16.97
Zhn s 1.00 | 3545 ~ 1124 100.00 | TS | 032 ~ 11.24] 3.00 16.05 ZhnLs 1.00 | 6.00 ~ 1053 100.00| FnRs | 500 ~ 2500| 8.00 16.05
4 100kN/m#%i#BZ2% | 1.00 | 000 ~ 287| 14550 |3mEBZB| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 1090 ~ 3297 145.50 |3mZEBZ3 -~ — — —
Zh s 1.00 | 287 ~ 1066 100.00 | =N | 0.00 ~ 1066| 2.98 15.95 ZhnLs 1.00 | 5.00 ~ 10.90 100.00 | #nS | .00 ~ 3297| 2.98 15.95
5 100kN/m#i#8%25% | 1.00| 000 ~ 326 152.26 |3mZE#BZB| 0.00 ~ 020|810 16.60 | 100kN/m##BZ5 | 1.00 | 1056 ~ 3306 152.26 |3mEBZB| 30.00 ~ 3306 | 3.10 16.60
Zhn s 1.00 | 3526 ~ 1105 100.00 | #nS | 020 ~ 1105| 3.00 16.05 zhnLs 1.00 | 600 ~ 1056 100.00| Fns | 6500 ~ 3000|300 16.05
g 100kN/m#%i#B2%| 1.00 | 000 ~ 266| 141.80 |3mZEBZB| — ~ — — — | 100kN/MiZE#BZB | 1,00 | 11.20 ~ 3350 141.80 |3mEEZ5 -~ — — —
Zhn s 1.00 | 266 ~ 1044 100.00 | TS | 000 ~ 1044] 2.93 15.66 zhLst 1.00|6.00 ~ 1120 100.00| NS | 6500 ~ 3350|293 15.66
- 100kN/m#%i#B2%| 1.00 | 000 ~ 010| 101.50 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1053 ~ 1080 101.50 |3mZEBZ3 -~ — — —
Zh st 1.001 010 ~ 789 100.00 | ThLs | 000 ~ 789|220 11.80 Zh st 1.00 ] 5.00 ~ 1053 100.00| TnLst | 500 ~ 1080|220 11.80
g 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %5 — - ~ — —|3m%EiEZ S -~ — — —
zhLs 1.00 | 000 ~ 548 68.38 | #Fhust | 000 ~ 548|1.75 9.36 LS 1.00 | 5.00 ~ 6.00 68.38 | =hLs | 500 ~ 6.00|1.75 9.56
9 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3m%EiEZS -~ — — —
Zh st 1.00 | 0.00 ~ 4.69 5847 | FhLs | 0.00 ~ 469|183 9.79 LS 1.00 1500 ~ 5.00 5847 | TS | 500 ~ 500 | 1.85 9.79
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBERD ~
zhLs ~ zhst ~ zhLs ~ ZhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBEZD ~
ZNLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
NS ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZnLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZNLs ~ ThLLst ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ TS ~ Zh s ~




